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1. Question No. 1 is compulsory.

2. Answer requisite mentioned questions from Question 2 and Question 3.

Question 1 5
Marks)

Read the following paragraphs and answer the questions mentioned at the end of
Paragraphs:

As the Government’s Smart City Mission completes 3 years, a number of cities
have been in the news for implementing innovative technology led projects like
City Command and control Centre, Smart Parking, City Surveillance, Intelligent
traffic management etc. However, as more cities move into implementation, it
becomes important to look at sustainability of the solutions which are getting
implemented.

From the viewpoint of sustainability, the first issue which comes to mind is
financing. Most of the current projects are being implemented by multi-system
integrators (MSI) or Engineering, Procurement & Construction (EPC) companies (for
urban infrastructure projects) on turnkey basis, including operations and
maintenance (O&M) support over a period of 5 years. Thus, in addition to one time
investments, O&M charges are payable to the MSI or EPC operator which typically
account for 50-60 per cent of the initial investments.

When it comes to source of financing, most of the smart city plans envisage
around 70 per cent of the total outlay to be funded by the Central and State
Government, either through the Smart City Mission or through convergence
schemes like AMRUT, Swachh Bharat etc. The challenge lies in the balance 30 per
cent which is supposed to be funded by the private sector either through public
private partnership (PPP) projects or through issue of municipal bonds / similar
instruments.

In most cities, there would be a need for a significant scale up in both number and
size of PPP projects, for them to mobilize target private investments. There are a
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number of underlying factors which may need to be addressed for this to happen.
In India, large scale PPPs have by and large been limited to projects involving
construction of urban commercial infrastructure with the Government contribution
primarily being in the form of land. With most of the identified smart cities falling
under the brownfield development category and Government land holding being
fragmented across multiple Departments / agencies in most cities, it has not been
possible to leverage this asset base beyond a point, other than a few Smart cities
undergoing green field development. Consequently, the number of such projects
has been limited.

This has been one of the major differences viz. a viz. China for example, where all
urban land is owned by the local / city Government. Consequently, land
monetization was one of the main sources of financing for Chinese cities during the
Special Economic Zone (SEZ) development phase of the eighties. Most local / city
Governments in SEZs like Shenzhen, Zhuhai and Xiamen mortgaged the land
against borrowings from state owned banks, with the borrowings being used to
develop urban and other connecting infrastructure like roads, railways, airports etc.
for the SEZ. Land parcels in the SEZ was then leased to both domestic and foreign
private investors at market rates by the city / local Government, with the proceeds
being used to service bank borrowings. For this model to be replicated in India, (a)
consolidation of all Government land holdings under the Smart City SPV and (b)
strengthening the linkage between identified Smart Cities and economic and
industrial development initiatives like Coastal Economic Zones, Industrial Corridors
etc. would be required.

Questions:
i.  What is need of smart cities in India?
i. How these smart cities should arrange finances for long term
sustainability?
Question 2 Attempt any One (10 Marks)

i. A company is considering the capital project about which the following
information is available:

a. Initial Project investment outlay is Rs. 500 Crores consisting of Rs. 400
crores on Plant and Machinery borrowed from the bank and 100 crores
on net working capital. The entire outlay will occur at the beginning of
the project.

b. The life of the project is expected to be 4 years. Fixed asset will fetch a
net salvage value of 80 crores whereas net working capital will be
liguidated at its book value

c. The project is expected to increase revenue of the firm by Rs. 490 Crores
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per year. The increase in cost on account of project is expected to be Rs.
290 Crores per year. (This includes all items of cost other than
depreciation, interest and taxes). The tax rate is 30 %.
d. Plant and machinery will be depreciated at the rate of 25% per year as
per WDV (Written Down Value) method.
e. Cost of capitalis 12%
Using Net Present Value (NPV) method determine whether the
company should undertake the above proposal or not

Answer both sub-question:

a. A company with 13% cost of funds and limited investment of Rs. 200
Lakhs is evaluating the desirability of several investment proposals:

Project | Initial Investment (Rs. Lakhs) Life (years) Annual Cash flow
A 90 6 30

B 100 4 40

C 70 5 30

D 30 7 9

E 85 10 39

e Rank the project on the basis of Profitability Index method and NPV

method
e Determine the optimal investment package

b. Explain Tornado Diagram in ‘Sensitivity Analysis’ using suitable example.

Answer both sub-question:
a. Compute the IRR from the following data:

Year 0 1 2 3 4 5
Cash Flow | -25000 11000 9000 7000 5000 3000
in Rs.

b. Explain various characteristics of Project Finance.
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Question 3 Attempt any Two

(10 Marks)

Following is the data pertaining to a project in which Rs. 40,000 is invested

Y1 Y2 Y3 Y4 Y5
PBDIT 10,000 13,000 18,000 20,000 20,000
Depreciation | 2,000 2,000 2,000 2,000 2,000
interest 3,000 3,000 3,000 2,000 1,000
Principal 1,000 1,000 5,000 10,000 10,000
Repayment

The applicable tax rate is 33%. Calculate Debt Service Coverage Ratio of

Project.

Explain Risk management Process.
Explain the various aspects of Project Appraisal?

End of Paper
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